MPIM 10 — Graphs and Egiiai‘ons of Lines

Name:
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Find the equation of each line in either the form ¥V = X +bor Y =a -/ x|

In both cases, you will need the siope and y-intercept.

1. 2
. ’ N
N _ \J = -, X e
me N 4
A Y= xr |
< > Sy £
pad =u
4 N
3. ‘ - 4.
y \/ = -’j__ ’ _,1'5/ T \/: _ZL- —
: X g X 2.
¢ \‘\ S < » >
\\ : - /__»' .
\\._J_J ad :
A4
5, " 6. X
J \[==y + ] -+
: [=5x+]| NI 1 7 X
o N
(r, > < \\\\ >
IS
7. 8.
: A A g - = o ¢
== x+[|S
cwa | s
/ ' N
¢ / - < Y
N




9, 10,
FAS
VBB |
= Lx -
& S & >
N
11, 12,
Py A 1 .
” > < >
*
N
N

Graph each line. Start with the y-intercept, then use the slope to find other points.
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Find the equation of a line that:

rise — A
SZOpe = =i -———yz yl = .._._.y
run o X, —x  Ax

25. Has a y-intercept of 2, and passes through the

point (2,3)
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Has a y-intercept of 3, and passes through the
point (1, 1)
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27. Has a slope of Z , and passes through the

point (-4, 1)

28.

1
Has a slope of ——, and passes through the

point (3, -2)
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29. Has a slope of 3, and passes through the

point (2, 5)
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Passes through the points (-2, 1) and (2, 3)
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31. Passes through the points (1, 2) and (3, -4)
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Passes through the points (1, 4) and (8, 18)
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